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SECOND MIDTERM TEST - NOVEMBER 2022

X - Std Mathematics w

Time: 1.30 Hrs. Maximum Marks - 50

PART ~ I (Marks - 7)

Txl=7

Note: Answer ALL questions: -

1. If 4 1sa 2x3 matrix and B is a 3 x4 matrix, how many columns does 48 have
(A)3 (B) 4 (€)2 (D)5
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. L36 9 L1216 6 3 673
3. Infigure if PR is tangent to the circle at P and O.is the centre of the circle, then
ZPOQ is ‘
(A) 120° 8) 100° (©) 110° (D) 90°
4. A vertical stick 12 m long casts a shadow 8m long on the ~grounc’l and a same
time a tower casts a shadow 40 m long on the ground, then the height of the
dower is : o
(A) 41.92m (B) 43.92m (C) 43m (D) 45.6m
5.  If the ratio of the height of a tower and the length of its shadow is \3 : 1, then the angle of elevation
of the sun has measure = ey f
(A) 45° (B) 30° (C) 90° o e (DY - 60°
6. The base area and height of the hemisphe.re and the cone are equal. Then the ratio of its curved

2

-2
, then 4° =
i en A

surface area is

(a) 1:2 - (B) 2:1 ey a2 D) V2:1
7.  The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be
(A) 12 cm (B) 10cm ey 13om! (C) Sem

PART - 11 (Marks - 10)

Note: Answer any FIVE questions. Question Number 14 is compulsory: o | 5x2=10
e, :

8. Ifd=|-17 07 % then, find (4")’
8 z R

2 ifaaiy
9. IfA=[pOBB g )and B=[s'“9 0 ]then,showthamw:l,

2 2
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1, Hite Ceva's theorem,
11, From the top of a bullding 12 m high, the angle of depression of & car on the ground is observed to

be 10", Find the distance of the ear from the bullding,

12, A kite Is fiying ot 0 helght of 75 m above the ground, The string attached to the kite is terporarily
tied 1o # polnt on the ground, The Inclination of the string with the ground s 60", Find the length of
the atring, assuming that there Is no slack In the string,

13, A garden roller whose length is 3 m long and whose diameter is 2.8 m is rolled to level a garden,
How much aren will it cover in B revolutions”

14, I the ratlo of radil of two spheres Is 4 : 7, find the ratio of their volumes,

PART — I (Marks - 25)
Note: Answer uny FIVE questions, Question Number, 21 Is compulsory; - S5x5=25

.4 1 2 ~7 6
s, - = / , verify that Y= AB +
15, If A ( ; ]]. 1/ (4 2) and Cra[ 4 2) verify that A(B+C)= AB+ AC

16, Sate and prove Pythagoras theorem

17, From the top of a tree of height 13 m the angle of elevation and depression of the top and bottom of
another tree are 457 and 30 respectively. Find the height of the second tree. (\ﬁ =] .732)

17, From the top of a lighthouse, the angle of depression of two ships on the opposite sides of it are
observed 1o be 307 and 60°, 1f the height of the lighthouse is A meters and the line joining the ships

passes through the foot of the lighthouse, show that the distance between the ships is % m,

18, If the radii of the circular ends of a frustum which is 45 cm high are 28 ¢em and 7 ¢m, find the
volume of the frustum,

19. A wolid consisting of a right circular cone of height 12 em and radius 6 cm standing

on a hemisphere of radius 6 cm is placed upright in a right circular eylinder full of
water such that it touches the bottom, Find the volume of the water displaced out of T
the eylinder, if the radius of the eylinder is 6 cm and height is 18 cm. .
©
w

A
20, H"A«(ml 2] then show that A’—SA+7[2.0

PART - IV, (Marks- 8)
Note: Answer any one question; - Ix8=8

21, (A). Draw a eirele of diameter 6 om from a point 7, which is 8 em away from its centre. Draw the
two tangents PA and P8 1o the circle and measure their lengths
OR

"), D ym st -4y ' 4= 6x 9
). Draw the graph of y = x 4x+3anduuumnolvc.x Ox 49 =0 10 - Maths Page - 2
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